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QUESTION 1

You need to migrate an FM application in version 11 from development to production. Your environment has two
instances of Shared Services, one for development and one for production. Identify the two true statements about using
Life Cycle Management to perform the application migration from development to production within this environment.
(Choose two.)

A. You can select specific objects to migrate or all objects to migrate.

B. Migrating applications from development to production in disconnected environments, where there are two instances
of Shared Services, is not supported.

C. Life Cycle Management will migrate both objects and data.
D. Life Cycle Management will generate an XML file that can be modified and used for importing to target applications.
E. The only role necessary to perform LCM activities is Application Administrator.

Correct Answer: AD

QUESTION 2

Identify the four levels of security in Financial Management. (Choose four.)
A. User Authentication

B. Document

C. Task

D. Cell Level

E. Data

Correct Answer. ABCE

QUESTION 3
What four steps are required to configure an FDM application with an FM application? (Choose four.)

A. Dimension names between FDM and FM are set in the FDM workbench or the Web client under
metadata/dimensions.

B. Define the FM application name in Integration Settings in FDM.
C. Define the FM server name in machine profiles\\' properties.
D. Map locations to an entity using the FDM workbench under Integration Settings.

E. Define the FDM Web server name under Integration Settings in the FDM workbench.
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Correct Answer: ABCD

Integration Settings is an option in FDM web, and the only configuration in FDM workbench is the "default load balance
server". The only configuration requirement for entering the FDM web server in the FDM workbench is in the HFM
adapter configuration for FDM (not under Integration Setting) ?and even that is an optional setting which is only required
when "Intersection Validation Report" is enabled. see fm11x_g6_a-target_adapter_readme.pdf in the Hyperion EPM
documentation library. Reference: http://docs.oracle.com/cd/E17236_01/nav/portal_6.htm

QUESTION 4

Given the following syntax in a business rule:

Sub Calculate()

Hs.Exp "A#Diffcash = " & Difference ("A#Cash", "YTD")
Fnd SJuh

FUNCTION DIFFERENCE (strPOV,strVIEW)

IF strVIEW = ™" THEN

StrVIEW = HS.SCEMARIO.DEFAULTVIEW (™)

END IF

strPOV = TUCASE (strPOV)

strVIEW = UCASE(strVIEW)

IF sStrVIEW = "EERIODIC™ THEN

DIFFERENCE = " ("&strPOV &"-"& strPOV & ".P#PRIOR"™ &™) "
ELSEIF strVIEW = "YTD"™ TH=N

DIFFERENCE = " ("&strP0OV &"-"& strPOV & ".Y#PRIOR.P#LAST"™ &™) "
ELSE

EXTIT FUNCTIOCN

END IF

END FUNCTION

Identify the subroutine.

A. Calculate ()

B. strview

C. Hs.Exp

D. DIFFERENCE

E. Hs.SCENARIO.DEFAULTVIEW(" ")
Correct Answer: D

Reference: https://docs.oracle.com/cd/E57185_01/HFMAD/ch12s01s03s04.html

QUESTION 5

Identify the two true statement related to Application Settings for translating data. (Choose two.)
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A. If the PVAforBalance is selected the period-end translation method is selected; otherwise the periodic method is
enabled.

B. If the PVAforFlow is selected, the period-end translation method is selected; otherwise the periodic method is
enabled.

C. If the PVAforBalance is selected, the periodic translation method is selected; otherwise the period-end method is
enabled.

D. If the PVAforFlow is selected, the periodic translation method is selected; otherwise the period-end method is
enabled.

Correct Answer: CD
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